‘ i HORN AUSTRALIA

FURNITURE

O|Rpcx

Lo

Horn Australia Pty Ltd

WARRANTY REGISTRATION FORM

To validate the 1 year warranty, please complete the details below. In addition we would like you to help us
improve the products and service we provide to you by completing the questionnaire and return to the address
below. Personal details are not made available to any other person or organisation and are sole property of the
retailer whom the transaction was made and with Horn. You are only requested to fill in one sheet per purchase.

Horn Australia Pty Ltd
PO Box 223
Salisbury SA 5108

OMr OMrs O Miss O Ms

Stater....

MOAEL:
Number: . ...

Colour: o

Serial

We would appreciate your assistance by answering the following questionnaire.

Please tick the appropriate box where applicable.

1. Which of the following characteristics do you
associate with your sewing cabinet?

0 A smart piece of furniiure

1 A compact piece of furniture
A convenient place o keep all my sewing
bits and pieces together
Very good value for money
Something that helps me be more creative
An indispensable piece of furniture
Something that makes it easy to sew
A cleverly designed storage unit
A good Quality product
Is available in colours to match my decor
Other (specify).....

™

LI

Oooooooo

ich describes the main use of your cabinet?
[0 General sewing and tailoring
{1 Dressmaking

[ Craft activities
1 Other (specify) o e

3. Onaverage, how often would you use your sewing,
overjocker, embroidery or quilting machine?
3 Atleast once a day
[0 At least once a week

4. In which room do you do most of your sewing?
Specific sewing room

Spare room

Rumpus or family room

Bedroom

Lounge room

Kitchen

Study or office

_Dining room

Other (SPecCify)......c.ueeeeeeeeeeeiiiiieeieeeen,

OO0O0oooOoamQ

5. Which of the following did you use to get
information on seing cabinets?

Books you furchased or borrowed

Television

Newspapers

Catalogues

Magazines

The internet

Sewing club & association

Friends

Relatives

Relevant dealers

Craft centres

OO00O00O0OO00ooOoOono

6. Which of the following do you agree with?
O When | have finished my work for the day |

Visit our Website: www.horn.com.au

Email: horn@horn.com.au




Horn Australia Pty Ltd

.. HORN AUSTRALIA

FURNITURE

O At least once a fortnight

O At least once a month

O At least once every 6 months

O At least once every 12 months

O Very rarely (less than once every 12 months)

7. Inthe last 12 months has the amount of time you
spend sewing, overlocking, embroidering & quilting:
O Increased
O Decreased
O Remained about the same

8. What did this product replace?
O Dining Table
O Kitchen Table
O Common Desk

9. Which of the following age categories are you in?
O 18 - 25 years
O 26 - 39 years
O 40 - 49 years
O 50 - 59 years
O 60 — 69 years
O 70 years or over

10. How would you describe your occupation?
Professional/executive

White collar

Self employed

Blue collar

Home duties

Student

Unemployed

Retired

Other (SPecify) «vvvveueniieainieiiieeeeenenns

OOoOoOoooooo

11. Did you make the decision to purchase?
O Yes '
O No
O Consulted — Partner/Children/Parent
O Gift

close up my sewing cabinet
O | always leave my sewing cabinet open so |
" can get started on my work straight away.
O | sometimes leave my sewing cabinet open
or closed depending on what | am doing.

12. Is this your first Horn purchase?
O Yes
O No

13. What brand of sewing machine do you have?
Bernina '

Brother

Husqvarna

Janome

Pfaff

Singer

Toyota

"Other (Specify).....cc.ccvvivvveeeeeeiiieeeeiene,

OoOooOooooo

14. Do you have an overlocker?
O Yes
O No

15. Please include any other comments about the
product?

Thank you for taking the time to complete this questionnaire. This information will help us improve
our service to you in the future. We would be grateful if you: could send it along with the completed
Warranty Registration form to your nearest Horn Office address.

Visit our Website: www.horn.com.au

Email:  horn@horn.com.au



: B PS i
. ; @“?@?’%@ AUSTRALIA
’ FURNITURE

Accessories not included

Outback MKII Sewing Cabinet

Congratulations on the purchase of your new Outback MKIl Sewing Cabinet. Every effort has been taken to ensure
your complete satisfaction with this custom designed product. For your convenience the Outback MKIl Sewing Cabinet
is supplied in three ready to assemble packs.

Helpful Assembly Hints

Read the instructions carefully before starting. Check to see that all the parts are included. Work in a spacious area
preferably on a carpet or soft surface. You will need a phillips head and flat head screw driver for the assembly.
Cordless drill is preferable. Make sure you tighten all the screws securely and Tap dowels all the way in.

Warranty Information

Horn Australia Pty Ltd warrants this Outback MKIl Sewing Cabinet to be free from faulty parts or workmanship

for a period of 12 months from the date of purchase. Under the terms of this warranty the repair and replacement of
any parts shall be at the discretion of the company or their designated representatives. The warranty does not
cover damaged caused by abuse, alteration, accident or neglect. The warranty does not cover damage caused

as a result of moving the cabinet when loaded. Should service become necessary during the warranty period
please contact your nearest Horn retailer. Product transportation is the owner's responsibility.

Outback MKII Sewing Cabinet Care
Your Horn Outback MKIl Sewing Cabinet normally requires a minimum amount of maintenance, however the
following points are are worth noting:

Cleaning - To remove marks and enhance the surface, wipe over with a general purpose cleaner.
Caution - Do not use ammonia based cleaning agents. Do not use harsh chemicals or abrasive cleaners.
The surface can be wiped with a damp cloth but should be dried quickly.

Horn Australia Pty Ltd
Web: http://www.horn.com.au E-mail: horn@horn.com.au

050110 Outback MKIl Page 1



Outback MKII Assembly Instructions

COMPONENTS DESCRIPTION QTY COMPONENTS DESCRIPTION QTY
=
Insert Holder 1
&=
= 20 < Lifter Rail (Right) 1
A g v Lifter Rail (Left) 1
D 4
Lifter (692mm) 1
E ).imnmum-- 12

Swivel Tray Bracket| 2

Door Shelf (Left) 1

B, a B o, N AT 5 B g
Caslor Washer 4

Door Shelf (Right) 1

Locking Castor @50 5

ok

Small Bucket 2
(Tinted)

/ Castor Bracket ]
Support Bracket 2

A
J
5
o)
\
P
33
i
o
-
i
o
s
pS 8
b

Swivel Tray (Ass.) 2

,'l
,'I
4
o
i
5
w
o
[C]
D
—
i
05
XKJ
SS
e
WA

)

'l
&7

0

gy
—
=
3

{]

Cotton Reel Insert 2

Q0P Fle DN\ T

Flush Hinge {(52mm) 6 Gato Log Button ;
ﬂ Bow Handle + Screws 2
Ramp 2
;@ Glue Bottle 2
Short Flat Screwdriver ’ Equalizer 2
(For tightening Cams) PTT— 1

Pin Cushion Foam 2

Tape Measure 50cm| 1

050110 Outback MKII Page 2



o VAsrN w

‘ Outback MKII Assembly Instructions

. OUTBACK MKII SEWING CABINET PANELS AND THEIR DESCRIPTIONS
Note: Hole positions helps with panel orientation.

0) 0

BACK FLAP

L/H END R/H END BACK

{

i

Before assembling panels
place 2 to 3 drops of glue
in dowel holes.

Note:
Do not place glue in Cam
or Cam Bolt holes.

0

L/H DOOR R/H DOOR BOTTOM TOP/FLAPS

GATELEG DIVISION LIFTER g3 ELF
BO

ARD

1. Top & Flap Pre-Assembly

=(E

Cam Bolt 24mm (x4) Step 1
\/
Ramp
Cam
Bolt 24mm

Magnetic Catch (x2)

G-

Screw D @&3.5x18mm (x2)

G-

Screw A @3.4x15mm (x4)

Assembly Steps

1. Screw the Cam Bolts into
the smaller holes in the Top
panel as shown.

2. Fix the Ramp to the Top
using Screw D @3.5x18mm
Note: Check orientation

3. Fix the Magnetic Catches to
the Top as shown using
Screw A @3.4x15mm
Note: Check orientation

Top & Flap
Assembly

Step 3

Screw A
_ 33.4x15mm

Magnetic
Catch

050110 Outback MKIl Page 3



Outback MKIlI Assembly Instructions.

@

Cam Bolt 24mm (x4)

Insert Holder

S
Screw A @3.4x15mm (x2)

Assembly Steps

1. Screw Cam Bolts into the
Bottom as shown.

2. Locate and fix the Insert
Holder to the Bottom using
Screw A @3.4x15mm C/S

2. Bottom Pre-Assembly

Screw A
@3.4x15mm

Lifter
Insert

Cam
Bolt 24mm
I

&

Cam @15mm (x8)

&

Dowel @8 x 30 (x12)

R/H Lifter Rail

Screw A @3.4x15mm (x3)

Assembly Steps

1. Press Cams into holes
as shown.

2. Insert Dowels with
2 to 3 drops of Glue

3. Fit R/H Lifter Rail using
Screw A @3.4x15mm C/S
Note: It should finish flush
with the top edge of the
End Panel,

3. Left & Right Hand End Pre-Assembly

Note: Arrow on cam points
towards closest edge.

STEP 1

(@

L/H End

Screw A
@3.4x15mm C/S

Right Hand
Lifter Rail

R/H End

050110 Outback MKIlI Page 4



Outback MKII Assembly Instructions

&

Dowel @8 x 30mm (x8)

L/H Lifter Rail

Screw A @3.4 x 15mm (x3)

Assembly Steps

1. Place 2 to 3 drops of Glue
into each dowel hole in the
Division and insert Dowels.

2. Screw on L/H Lifter Rail using
Screw A @3.4 x 15mm
Note: Rail will be level with
top edge.

3. Place 2 to 3 drops of Glue
into each dowel hole in the
Shelf and insert Dowels.

4. Division / Shelf Pre-Assembly

Screw A
@3.4x15mm

Assembly Steps

1. Place 2 to 3 drops of Glue in
Dowel holes in the Bottom.

2. Insert the Cam Bolts into the
R/H End and secure.

3. Slide the Back into the groove
in the Bottom & R/H End.

R/H END

A. Insert
Cam Bolt

B. Half turn
Clockwise
to Tighten.

050110 Outback MKIl Page 5



Outback MKII Assembly Instructions.

6. Division / Shelf Pre-Assembly

Division

L/H End

Assembly Steps

1. Place 2 to 3 drops of Glue
into each dowel hole in the
Division and insert the Shelf. L

2. Place 2 to 3 drops of Glue - A. Insert B. Half turn

into each dowel hole in the :
L/H End and insert the Cam Bolt CIOC.kWISe
Shelf/Division assembly into to Tighten.
the L/H End.

3. Place 2 to 3 drops of Glue into
the dowel holes in the Bottom.

4. Position the Cam holes in the
L/H End assembly over the
Cam Bolts in the Bottom and
insert. Secure by turning the
Cams a half turn clockwise.

7. Lifter, Lifter Board Pre-Assembly

Note: Lifter orientation on the Lifter Board

Screw A
> @3.4x15mm

Screw A @3.4 x 15mm (x4)

Assembly Steps

1. Screw the Lifter to the
Lifter Board using
Screw A @3.4 x 15mm C/S

Note:
The Lifter orientation on
Lifter Board

050110 Outback MKIl Page 6



Outback MKII Assembly Instructions

Lifter Board Assembly

Assembly Steps

1. Position Lifter guides over
Rails and gently slide the
Lifter into position.

Note:

Ensure all 4 plastic guides

(2 on each side are positioned
correctly.)

8. Lifter Assembly into Cabinet

A.

///Q
Plastic
Guide

&

Assembly Steps

1. Loop Cable through Metal
Tab on Lifter Rails & secure.

2. Push Lifter down and click
into first stop position.

Note:

When the Lifter is clicked into
this first stop position a small
block of timber will disengage
from the rear of the Lifter.

Discard block

9. Lifter Cable Attachment

Lifter Rail

Cable

050110 Outback MKII Page 7



Outback MKII Assembly Instructions,

Assembly Steps

1. Place 2 to 3 drops of glue
in the Dowel holes in the
Top Assembly

2. Align the Top Assembly
Cam Bolts with the Ends
and Division and insert.

3. Half turn the Cams
Clockwise to tighten

4. Once complete roll the
cabinet onto its Top.

Note: It may require 2 people
to lift the cabinet.

10. Top Assembly

A. Insert
Cam Bolt

B. Half turn
Clockwise
to Tighten.

Flap Hinge (x3)

E

S
Screw D @3.5 x 18mm (x2)

S
Screw A @3.4 x 15mm (x9)

Assembly Steps

1. Screw on Flap Hinge using
Screw A @3.4 x 15mm C/S

2. Screw on Ramp using
Screw D @3.5x 18mm C/S

11. Back Flap Pre-assembly

Screw D
#3.5x18mm

STEP 1

Screw A
@3.4x15mm

7
Q
d Flap Hinge

050110 Outback MKIl Page 8



Outback MKII Assembly Instructions

Screw A @3.4x15mm (x9)

Assembly Steps
1. Fix the Back Flap to the Cabinet
using Screw A @3.4x14mm C/S

12. Fitting the Back Flap

Screw A
@3.4x15mm

§

Gate Leg Button

.N
AN

0)

e

Butt Hinge (x2)
)
|

Castor Bracket

0

Castor @50mm locking castor

o

[5
Screw A @3.4 x 15mm (x10)

Assembly Steps

1. Tap in Gate Leg Button

2. Screw on Butt Hinge using
Screw A @3.4 x 15mm

3. Screw on Castor Bracket
using Screw A @3.4 x 15mm

4, Screw on Castor and secure.

13. Gate Leg Pre-assembly

STEP 1

Screw A
#3.4x15mm C/S

Gate Leg Button

Butt Hinge

STEP 3

¥ 93.4x15mm

Castor
Bracket

)5
Note: ,',"‘/
Tap Castor Bracket into the 7%
pre-located hole on the edge y
of the Door before fixing the

Screws.

050110 Outback MKIl Page 9



Outback MKIl Assembly Instructions,

€y

Screw A @3.4x15mm (x6)

Assembly Steps

1. Fix Gate Leg to the back of
Cabinet using
Screw A @3.4x15mm C/S

2. Swing Gate Leg against Back.

14. Gate Leg Asse

STEP 1.

mbly

Screw A

33.4x15mm

Castor @50mm (x2) 2 x Locking

Washer (x4)

Spanner

Assembly Steps

1. Place Castor Washers over
Castor thread and screw
into Bottom and secure
using the Spanner. Put the
locking castors on the front
of the cabinet

2. Carefully roll the cabinet
upright. This will require 2
people to perform safetly.

15. Castor Attachment

Castor
Washer

050110 Outback MKIl Page 10



Outback MKII Assembly Instructions

<

Flush Hinge (x6)

Castor Bracket (x2)

L

Equalizer (x2)

(6

0)
N S

Magnetic Catch Plate (x2)

B
Screw A @3.4x15mm (x24)

Assembly Steps
1. Screw on Flush Hinge using
Screw A @3.4x15mm C/S
2. Screw on Castor Bracket use
Screw A @3.4x15mm C/S
3. Screw on Locking Castor
4. Screw on Equalizer using
Screw A @3.4x15mm C/S
5. Screw on Magnetic Catch
Plate using
Screw A @3.4x15mm C/S
6. Repeat for L/H Door

16. L/H & R/H Door Pre-Assembly

Castor
Bracket

Note:

Tap Castor Bracket

into the hole in the edge
of the Door before
inserting screws.

L/H Door Shelf

R/H Door Shelf

G
Screw E @3 x 25mm (x4)

Assembly Steps

1. Locate L/H Door Shelf
on the L/H Door & secure use
Screw E @3x25mm C/S

2. Repeat for R/H Door Shelf

17. Door Shelf Assembly

Step 2

Screw E
@3x25mm

Door
Shelf R/H

Step 1

@3x25mm

Door
Shelf L/IH

050110 Outback MKIl Page 11




Outback MKIIl Assembly Instructions

Swivel Bracket

<£

Small Bucket Assembly

Swivel Tray Assembly

-
Screw E @3 x 25mm (x4)

Sm>
Screw A @3.4x15mm (x1)

Assembly Steps

1. Fit Swivel Tray Assembly.

2. Fit the Swivel Bracket
into the base of the Swivel Tray
assembly and secure using
Screw E @3x25mm C/S.

3. Position the Support Bracket
and secure using
Screw A @3.4x15mm.

4. Locate and fit the Small Bucket
onto the Support Bracket and
secure use Screw E @3x25mm

18. R/H Door Assembly

Screw E
g @3x25mm

N

Screw E
@3x25mm

Swivel Bracket

A

e

Small Bucket Assembly

Swivel Tray Assembly

()~
Screw E @3 x 25mm (x4)

S
Screw A @3.4x15mm (x1)

Assembly Steps

1. Fit Swivel Tray Assembly.

2. Fit the Swivel Bracket
into the base of the Swivel Tray
assembly and secure using
Screw E @3x25mm C/S.

3. Position the Support Bracket
and secure using
Screw A @3.4x15mm.

4. Locate and fit the Small Bucket
onto the Support Bracket and
secure use Screw E @3x25mm

Screw E
@3x25mm

Swivel
Bracket

Screw A
@3.4x15mm

Bracket

050110 Outback MKIl Page 12



Outback MKII Assembly Instructions

20. Fitting Doors & Handles

Bow Handle (x2)
@)mmmm
Handle Screw (x4) F
Screw A @33.4x15mm (x12) .

Handle

Assembly Steps

1. Fit Small & Large Doors
to Cabinet Ends using
Screw A @3.4x15mm

Note:
Fit Screws into pre-drilled
holes and secure

2. Fit Bow Handles using
Handle Screws supplied

21. Securing Flaps

Assembly Steps

1. Open Doors and swing Flaps
onto top of Doors. I

2. Lock Castors in position. (
This will secure the Doors I

Warning
Under no circumstances must the
Door be closed without first closing
the Flaps. Damage will almost
certainly be caused to the Flap and
Door.

Note:

Doors must be open and in place
before Flaps are opened and
positioned on Doors

050110 Outback MKIl Page 13






